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36. ve 37. sorularda, |. gruptaki L II.
kiimelerin gekilleri birer rakamla :
gisterilerek Il. gruptaki sayilar elde
edilmistir. Soru igaretiyle belirtilen
kiimenin hangi say1yla gosterildigini
bulunuz.

1987 3189 7392
8723 9231

T eEa@
RO S L
=@ 8
L= = R ]

In guestions 36 and 37, the numbers

in group I stand for the sels of figures
in group |, when each figure has been
coded with a speciiic numeral. Find the :
number which corresponds fo the set OPSA="
of the figures indicated by the question :
rmark.

A) 1279 B) 1792 C) 2197

D) 7139 E) 9721
36.

L. 1I.

. 1234 2436 3651
4512 6145

ql

o OB
B2T o
E® S0
R E

YOLA="7

A) 1235 B) 2346 C) 3215

D) 4521 E) 6132
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38. ve 39. sorularda, |. gruptaki

stzciiklerin harfleri birer rakamla
gdsterilerek Il. gruptaki sayilar elde
edilmistir. Soru isaretiyle belirtilen
stizclflin hangi sayiyla gdsterildigini

bulunuz.

In guestions 38 and 38, the numbers
in grows I stand for the words in group
[, when sach lefier has been coded

with a specific numeral. Find the

number which corresponds fo the word

indicated by the question mark.

38.

L.

S0PA
KASO
EPOS
KOPE
AKEP

SERCO=?

A) 4805

D) 7694

1I.

6785 T458 TG94

8549 9456

B) 5874

E) 9874

C) 6985

PiDE
DEAH
iDEH
AHPT
HFED

APDI=?

A) 1345

D 4365

Il

1235 2364 3546
4612 5462

B) 1435

E) 5346

C) 3546
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4. ve 42. sorularn asadidaki tabloya
Alalbjcjdie] géire cevaplayiniz.
afblcldlelal(x Ac)a(b'Aa)=d
bleldlelalnl ’ Answer the questions 41 and42
according to the table below
cld|{e|lalb|c x="7
dlejalb|c|d
ajbjejdfe Tabloda ¢ igleminin gérevi belirlenmistir.
The function of  § in the table is defined.
A B)b C Dyd E
) ) )e ) ye Gl1i(2|3(4]5
L2345
2012111435
Jl3[4|01[2]5
41431215
S15)15|15|5|5
COrnekler:
Examples:
203 =4
192=2

41.

(302)0(403)=7

A)l B2 O3 D)4 E) 5

42,

(x02)02=3 = x=?

A)l B)2 3 D4 ES
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Yukardaki toplama tablosunda a,
b ve ¢ harfleri birer sayinin yerine
kullarilmigtir. Buna gdre, a Kagtir?

I the addition table above, the leflers

a, b and o each stand for a number,
Accordingly, what is the value of 87

A)S BiG )7 Dy & E19

=
=

Yukaridaki ¢carpma ve toplama
tablolarinda a ve b harfleri pozitif birer
sayinin yerine kullamimigtir. Buna gére,
(a-b) kactir?

iIn the addition table above, the letiers
a and b each stand for a numbear,
Accordingly, what iz the value of
ja-bj)2?

A)3 B4 OS5 D6 E) &

Yukandaki toplama tablosunda a, b ve
¢ harfleri pozitif birer sayinin yerine
kullarilmigtir. Buna gdre, b kactir?

I the addition table above, the leflers

a, b and o each stand for a number,
Accordingly, what is the value of b?

A)d B6 OF D)9 E)I2
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KL ML KK

LK N [K X|L ML K[N]
K=m L=o M=7 N=17 KE=A L=v M=7 N=17

| ve Il yukandaki tabloenun farkh birer
parcasidir. Buna gore, II'deki M ve
N'nin yerine agafidakilerden hangisi

gelmelidir?

L and Il are gifferent pleces of the given
table above, According to this, which of

the following should be puf insfead of M

ana M in I?
M
A) ;
B) .
(&) B
Dy &

N

-

| ve Il yukaridaki tablonun farkh birer
parcasidir. Buna gire, I'deki M ve
N'nin yerine asafjidakilerden hangisi
gelmelidir?

[ and Il are gifferent pleces of the given
table above. According to this, which of
the following should be puf insiead of M
ana M in 7

M N
N
B) X o
C) Foe
D) s X
E) .
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D) E)
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M N
N e =
B) @
e @
D) @ =
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52. o 53,
: Agafidaki pargalardan hangisi verilen

O . B C sekli tam bir kare yapar?
= O Which of the following shapes can make
| B the given shape a whole square?
- = f
K -7 M
[
A) B) C) A) B) C)
D) E) D) E)
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54., 55. ve 56. sorulan agagidaki gekle
gdre cevaplayiniz.

Answer the questions 54, 55 and 58
according lo the fgure below

OB

Yukaridaki gekil a, b, ¢ ve d harfleriyle
gosterilen dart pozitif tam sayiyi iceren
bazi iglemlere gére diizenlenmisgtir.
Harflerin gdsterdigi sayilar her soruda
farkh olabilir fakat bunlarla yapilacak
islemler her soruda aymdir.

The figure above ls arranged according
o gorme aperalions which fnclude four
posifive whole numbers indicated by

a b,c and d. The numbers that each lefler

incicate can be different in each question,

but the procedure fo be done is the same
in all guestions.

Yukaridaki verilen gekle gére, K kactir?

According to the given fgure above, what
is the value of K¢

A)3 B) Q)

(SRR
b | —

D) E)2

K="
Yukaridaki verilen sekle gire, K kactir?

According to the given fgure above, what
i the value of K?

Al B2 O4 D5 B9
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56.

E=?
Yukaridaki verilen gekle gdre, K kactir?

According to the given figure above, what
ig the value of K?

A)l B2 03 D)4 E)S
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57., 58. ve 59. sorulan verilen iligkiye
gire cevaplayiniz.
Answer the questions 57, 58 and 59

according to the relationship given in the
example.

Ornek:
Exarnple:

2 ® @
e"@e’)d

A, B, C, D ve E harfleri I. sekildeki
gibi birbirine baglanmistir. I. gekildeki
baglanti sayilan ve birbirine baglanan
harfler defigmemek kosuluyla Il. sekil
elde edilmistir.

The lefters A, B, C, D and E are connected

o each other as it fs given in the figure
I Figure Il is oblained without changing

the nurmber of connactions and the letfers

connecied.

Il. gekilde X ve ¥ nin yerine gelmesi
gereken harfleri bulunuz.

Find the letfers thal should be put instead
of X and ¥in the figure I,

X Y
N B C
B) E C

C) B A
D) D E
E} D C
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58.

Py

Il. gekilde X ve Y nin yerine gelmesi
gereken harfleri bulunuz.

Find the letters that should be put instead
of Xand Yin the figure I,

X v
N cF
B) B F
) D E
D) F C
E} B E

G
&

@ (F)
o"a

Il. gekilde X ve Y nin yerine gelmesi
gereken harfleri bulunuz.

Find the letfars thaf should be put Instead
of X and Yin the figure 1.

X Y
N oA C
B) A B
C) F B
D) D C
E) E F
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60.

als

4

Yukaridaki terazilerin {icll de dengede
olduguna gére, lll. terazide soru
isareti agagidakilerden hangisini
gdstermektedir?

All three scales above are in balance.
Accordingly, which of the following does
the question mark sfand for in the third
goals?

4 00N B) @AANR
C) AAOD® D) HH@®A
5 HHAR

Yukaridaki terazilerin li¢li de dengede
olduguna gdre, . terazide soru

isareti agagidakilerden hangisini
gastermektedir?

All three scales above are in balance.
Accordingly, which of the following does
the question mark sfand for in the third
srals?

A) HAA® B) HA®@®

c H00e D) AOO®

gy HANA®
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e
¢ !
" =
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Azafidaki gekillerden hangisi farkhdir?

. : ; Which of the following figures s different?

BB
Xp B>

Asafidaki gekillerden hangisi farkhdir?
Which of the following figures s different?

-

Yukaridaki terazilerin licil de dengede
olduguna gbre, lll. terazide saru
isareti agagidakilerden hangisini

A B) C)
— ? . .
All three scales above are in balance. ' :
Accordingly, which of the following doss : w

the guestion mark sfand for in the third

scale? D) E)
) @ON 5 OAAA
cy N D) AA®O® .

ERAA®
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Ak BTy

Wi

g Doz

e

”y
CEE

70.

' I 1L IV.
%A% P llrlb ?

A B} ©)
5 7
6 X7 556 7
8 8
D) E)
7 7
6 X5 6 X 8
8 5
71.
3 7 10 13
4 12 84 / \ 840

A) =4, Y=3460

B}y X=l16, Y=10920

C) X=32, Y=21840

D) XK=, Y=3460

E) X=4, Y=10920

sl23n0
GEIE
INER RS LE
1217 16|72
A) B)
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7., 74. ve 75. sorulan asafidaki

drnefe gore cevaplayimz.

Answer the guestions 73, 74 and 75
according o the given sample.

A A

— ¥
T3.
a
- w7

L1
|

A)aq B) 45 C) i

Dy 47 Ej 48

’
//
w ¥
A) 100 B) 102 ) 104
D) 108 E) 110
TA. N — —

A) 80 B) 82 C) 86

D) 90 E) 94
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Th. S
Asafidaki gekillerden hangisi farkhdir? : Asafjidaki gekillerden hangisi farkhdir?
Which of the following figures is different?

Which of the following figures is different?

Mﬂm§>
CJQD}K}

E)
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o,

5

)

A) X=7, Y=9 B) X=2, Y=5
C) X=1, Y=6 D) X=8, Y=2
E) X=4, Y=1

80.
sfol1[2]&]s
glo]2]2]1]9
TBEBEREE
AREBAE
Bli3(9]01]2]%
3lsl2]1]o]s
A) B) C)
A 3 2
8|2 2 3
D) E)
28 R




T.C.
istanbul Universitesi
i0Y®&s 2014 Cevap Anahtar

Kitapeik Tiirli A

63
64
=T
66
67
68
69
70
71
72
73
74
76
77

78
79
80

23
24
26
27
28
29
30
31
32
33
34
35

36
37

38
39
40

10
11
12
13
14

16
17

18
19
20

Edit by =Ahmet Soylak ©



